ISC 2018 —28.01.2018

Cat 1: 269 solvers

Problem (average; # full solution (5 pts.); # part solution (0,5-4,5 pts.); # wrong
solution (0 pts.); # no solution (-))

1) #2 Kupper 1.Qcl! (4,55; 245; 0; 22; 2)

2) #3 Malakhov 1.a3! (2,26; 111; 16; 106; 36)

wrong keys: 1. Rg4? 33x; 1. Rd5? 23x; 1. Bg3? 21x

missing variations: g5 9x, €5 8x

3) e.g. Minski 1. Sc2! (0,45; 4; 96; 65; 104)

wrong moves: 1. Sb3? 18x; 1.h8Q7? 17x; 1..Qe5+? 13x; 1... fxg2? 20x; 2....fxg2? 13x
4) h#5 Jones 1.5g3/ 1.Sg5 (0,81; 21; 45; 22; 181)

45 solvers with one sol: Sg3 34x; Sg5 11x

solutions for Sg3: 55; for Sg5: 32

5) #4 Kupper 1. Qa6! (0,69; 16; 42; 88; 123)

wrong keys: 1. d6? 28x; 1.Ke7? 10x; 1. Kf7?9x; 1.Qc8? 9x
missing variations Bd4 12x

6) S#3 Prcic 1. Bg3! (2,26; 101; 30; 34; 104)

wrong key: 1. Qh2? 9x

missing variations Sb3 25x; Qd8 14x



7) #2 Vahlakov 1. Bc2! (4,46; 240; 0; 22; 7)

wrong keys: 1. e7? 6x

8) #3 Brankovic 1. Qg6! (2,28; 84; 60; 58; 67)

wrong keys: 1. Se7? 12x; 1. Qe6? 10x; 1. Ba6? 6x

missing or wrong variations: Rc3 43x; Sg5 35x; Rg7 11x

9) e.g. Sakharov 1. Bd5+ (1,12; 25; 70; 109; 65)

wrong moves: 1.d77? 54x; 1. Bxb7? 45x; 1. ..Kxd6? 11x; 8.Kf3? 12x
10) h#3 Hagemann a) 1. Bf2 b) 1.5f4 (1,30; 32; 76; 22; 139)
76 solvers with 1 sol. — 35 found a; 41 found b

all solutions with a: 67; all solutions with b: 73

11) #10 Krétschmer 1. Bf8! (0,43; 23; 0; 134; 112)

wrong moves: 1. Bc5? 21x; 2. Bc5? 9x; 4. Shg4? 9x

12) S#4 Tura 1. Bc1! (0,45; 23; 2; 60; 184)

wrong keys: 22 different wrong key moves



Cat 2: 116 solvers

1) #2 Szwedowski 1. Qg7! (2,76; 64; 0; 45; 7)

wrong keys: 1. Qc5? 21x; 1. Qf6? 9x

2) #2 Locock 1. Rg7! (2,67; 62; 0; 45; 9)

wrong keys: 1. Qa8? 17x; 1. Rc7? 14x

3) #3 Butler 1. Bd1! (0,41; 8; 2; 60; 46)

wrong keys: 1. Sd1? 14x; 1. Se2? 6x

4) #5 Turnbull 1. Sal! (0,47; 11; 0; 64; 41)

wrong keys: 1. Sa2? 8x; 1. Qel? 5x; 1. Sd4? 5x; 3. Qel? 8x

5) eg Keith/Minski 1. g7! (0,96; 1; 58; 18; 39)

wrong moves: 1. a6? 8x; 1. Se4? 6x; 3. Kb5? 9x; 3... Re7? 16x

6) h#2 Karpati 1.... 8D, e8R, e8B, €8S (2,94; 53; 30; 7; 26)

3sol: 13; 2 sol: 5, 1 sol: 12; all sol with e8D 79; with e8R 64; with e8B 64; with e8S 66
7) #2 Piliczewski 1. Se3! (3,19; 74; 0; 28; 14)

wrong keys: 1. Sc7? 8x; 1. Se7? 7x

8) #2 Paslack 1. Sf5! (2,84, 66; 0; 35; 15)

wrong keys: 1. Sb3? 12x; 1. Se2? 6x

9) #3 Malakhov 1. Qd1! (1,15; 18; 14; 50; 34)

wrong keys: 1. Sh3? 12x; 1. Sf1? 5x; 1. Se4? 4x; missing var: 1... b3 12x; 1.bxc3 6x
10) #4 Schrufer 1. Ral! (0,41; 9; 1; 53; 53)

wrong keys: 1. Bc2? 15x; 1. Rd8? 15x; 1. Kd3? 5x; 1. Rd3? 5x

11) eg Blandfort 1. Bd4+ (1,45; 4; 53; 28; 31)

wrong moves: 1. Bel? 16x

12) s#2 Prytz 1. Bd2! (1,74, 19; 40; 25; 32)

wrong keys: 1. Bc3? 7x; 1. Bg3? 4x

missing variations: Rc6 30x; Rb7 25x; Rd5 19x; Sd5 13x; 3 12x; thr. 7x



Cat 3: 217 solvers

1) #2 Szwedowski 1. Qg5! (3,27; 142; 0; 69; 6)

wrong keys: 1. Qf2? 20x; 1. Kf2? 15x; 1. Qf4? 9x; 1. Sf4? 8x
2) #2 Kovacevic, Ljubomirovic 1. Sb7! (1,54; 67; 0; 139; 11)

wrong keys: 1. Bf3+? 33x; 1. Qd4? 23x; 1. Bxd7+? 12x; 1. Qed+? 9x; 1. Qe5? 8x; 1.
Bh3? 7x

3) #2 Klaar 1. Sd4! (3,04; 132; 0; 78; 7)

wrong keys: 1. Bxc4? 13x; 1. Sc3? 12x; 1. Qd4? 10x; 1. Qf4? 10x; 1. Bxe4? 8x
4) #2 van Dijk 1. Se3! (3,13; 136; 0; 65; 16)

wrong keys: 1. d3? 17x; 1. Qgl? 17x

5) #3 Butler 1. Rf3! (1,58; 47; 43; 72; 55)

wrong keys: 1. Kg8? 19x; 1. Rd4? 11x

missing variations: f4 34x; Kxh4 9x

6) eg Richter 1. Be3+! (1,19; 39; 28; 109; 41)

wrong moves: 1. Bd8? 38x; 1. Bh4? 17x; 1. bxa7? 16x; 1. Bf4? 14x; 1. b7? 7x; 1. bxc7?
8x; 1. Bf6+? 6x; 2.g5? 19x



